® © ®O

S)

SMA®

TYPE SPRING MOUNT
(HEHL - 25mm) KS B 1563(7H&)

EEr

LS ATRNRER M F2 2715151 20| ARBEIH X7 &1 A
HAHOIS =o= Holat 4 Qo MxIFol A

Am20| YIRIstD sHREUS UM

SHEZ Atoloi|

= N
E Hds

=eg

0

2l
7171 &t SR80

HOLEO| ZH|E BASE

=
=]

1= =

PLATE?} of ZX|= |0 QUC}. SHEH[0|A LHE0= DRAIN HOLEO| 7HS (0]

Hi<~7F 018t 22 MIZ=[0] UCE

(NOTE : 7Hets A=l OIR2E & SMAE KS 5t5 724, FMAE KS 2| 55 #2ol w2

HE)

HEel 44

No. Zy A 7
CR KS M 6617
1 Lower Spring Cap Base Plate
SS400 KS D 3503
SUP9 KS B 2402
2 Coil Spring
HSW3 KS B 2403
CR KS M 6617
3 Upper Spring Cap
SS400 KS D 3503
4 Level Bolt SS400 KS B 1002
5 Cap Screw SS400 KS B 1002
I
HEQ 2=
o HIm wiXIviel IXIE
.« $27]0| WrIg
« Bx7I0| YrIg
o J|Et ~EHIZ0] A2 FH|2 YTE

DIMENSION & SELECTION GUIDE BY LOADS

TYPE ME5l= | Ama x| =y o Dimension(mm)
(kaf) | (kgf/mm) | (kg) A B € D H Level Bolt | Cap Screw
SMA-A-50 50 2.0 0.35 Red
SMA-A-75 75 3.0 0.39 Black 90 74 53 12 94 M16 x 45 M10 x 25
SMA-A-100 100 4.0 0.41 Blue
SMA-B-100 100 4.0 1.10 Blue
SMA-B-150 150 6.0 1.12 Brown
SMA-B-200 200 8.0 1.18 White 130 | 100 70 13 128 M20 x 90 M12 x 25
SMA-B-300 300 12.0 1.34 Orange
SMA-B-400 400 16.0 1.34 Pink
SMA-C-400 400 16.0 1.90 Pink
SMA-C-500 500 20.0 2.00 Green
SMA-C-600 600 24.0 2.08 Blue
SMA.G.750 750 30.0 51 Black 150 | 120 84 13 144 M20 x 90 M12 x 25
SMA-C-1000 1000 40.0 2.32 Yellow
SMA-C-1200 1200 48.0 2.20 Red

(NOTE) 2 72 & X

== MZE2 85

40

{3l AFE ol glo] HE & &+ USLICh




o
HME& Graph
100
——SMA-A-100
'%' 10 ——SMA-A-150
z ——SMA-B-100
=)
——SMA-B-150
——SMA-B-200
\ ——SMA-B—300
~— SMA-C—-500
—
o ——— || —sMAC-750
——SMA-C—-1000
0.001
0 10 20 30 40 50
Frequency[ Hz]
St3-t42| Graph
14 000
——SMA-A-100

12 000 / ——SMA-A-150
10 000 ——SMA-B-100

Z 5 000 ——SMA-B-150

Kl ——SMA-B-200
S 6 000

——SMA-B-300

4 000 / SMA-C-500

——SMA-C-750

2 000 . —
—/
o % —— SMA-C—1000

0 10 20
Displacement[ mm]

PRESSURE GAGE

NFC10 S2AlS 74l ﬁ
AR
S

WHA =Z4X|7]|

54’3 Graph
1000
——SMA-A-100
e ——SMA-A-150
£
z ——SMA-B—100
¢ ——SMA-B—150
c
= 100 ——SMA-B—200
2 ——SMA-B-300
g SMA—C—500
[a]
——SMA-C-750
——SMA-C—1000
10
20 30 20 50
Frequency[ Hz]
5.0
HEXIZ @ AIARA]
1000
~
T
=
o
§ 100
3
o
@
w
[o))
£
€ 10
]
a

5 10 20 30 40 50
Natural Frequency of the System[Hz]

E WHA $Z4X|7|

THERMOMETER

BUTTERFLY
VALVE

|>

o2

MA &1 =
3] 5mm)

Sl
232|ENBA ERY) (B=Es

n




